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For the following circuit, determine both Thevenin and Norton equivalents. Use the following values.

Ri = 1kQ, Rz = 3kQ, V=2V, and | = 1mA
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Solve for the Laplace-domain fransfer function of each of the following circuits.
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Determine an expression for both the input impedance and output impedance for the circuit shown below.
Also, solve for the numerical values of the input and output impedances given that
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Determine an expression for both the input impedance and output impedance for the circuit shown below.
Also, solve for the numerical values of the input and output impedances given that
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